Chapter 25 Business Valuations
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 where P0 is the current stock price, D1 is the dividend distributed in the coming year, r is the required return and g is the dividend growth rate. If progressive dividend policy is used, g increases, stock price increases and shareholders’ wealth increases too.
(b)

The two measures used to measure the performance of a dividend payment are dividend payout ratio and dividend yield. The former measures the percentage of profit distributed as dividend. The latter equals dividend per share divided by price per share.
(c)

	Year
	Dividend
	Growth rate
	Average growth

	2006
	0.42
	
	

	2007
	0.45
	7.1%
	

	2008
	0.48
	6.7%
	

	2009
	0.52
	8.3%
	

	2010
	0.59
	13.5%
	8.9%


(d)
The required return is HK$0.59 × 1.089 / HK$27 + 0.089 = 11.28%

Answer 10
(a)
[image: image29.emf]Period Cash flows $ Discount at 0.1% PV ($)

1 Interest 200          0.9990              199.80       

2 Interest 200          0.9980              199.60       

3 Interest 200          0.9970              199.40       

4 Interest 200          0.9960              199.20       

5 Interest 200          0.9950              199.00       

6 Interest 200          0.9940              198.80       

6 Redemption 10,000     0.9940              9,940.21    

11,136.02  


(b)
It is expected that the bond price will increase upon being issued in the open market as the bond is sold at par value but its theoretical price is HK$11,136.02.

(c)

It is a premium bond as its price is higher than the face value.

(d)
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The yield curve shows the relationship between the interest rate (y-axis) and the maturity (x-axis). In a normal yield curve, the longer the maturity, the higher the yield (interest rate). This is because the expectation of inflation and the risk are higher.

(e)

When the interest rate increases, the price of the bond decreases. This is because the present value of the principal and the coupon payment are worth less, so the bond price decreases.
(f)

When it is closer to maturity, the price of the i-bond decreases. When maturity is close, there are less coupon payments, so the bond price decreases.

Answer 11
(a)(i)
Price/earnings ratio method valuation

Earnings per share of Danoca Co = 40c

Average sector price/earnings ratio = 10

Implied value of ordinary share of Danoca Co = 40 x 10 = $4·00

Number of ordinary shares = 5 million

Value of Danoca Co = 4·00 x 5m = $20 million
[2 marks]
(a)(ii)

Dividend growth model

Earnings per share of Danoca Co = 40c

Proposed payout ratio = 60%

Proposed dividend of Danoca Co is therefore = 40 x 0·6 = 24c per share
[1 mark]
If the future dividend growth rate is expected to continue the historical trend in dividends per share, the historic dividend growth rate can be used as a substitute for the expected future dividend growth rate in the dividend growth model. Average geometric dividend growth rate over the last two years = (24/ 22)1/2 = 1·045 or 4·5%

(Alternatively, dividend growth rates over the last two years were 3% (24/23·3) and 6% (23·3/22), with an arithmetic average of (6 + 3)/2 = 4·5%)
[1 mark]
Cost of equity of Danoca Co using the capital asset pricing model (CAPM)

= 4·6 + 1·4 x (10·6 – 4·6) = 4·6 + (1·4 x 6) = 13%
[1 mark]
Value of ordinary share from dividend growth model = (24 x 1·045)/(0·13 – 0·045) = $2·95

Value of Danoca Co = 2·95 x 5m = $14·75 million
[2 marks]
Discussion:

1.
The current market capitalisation of Danoca Co is $16·5m ($3·30 x 5m).The price/earnings ratio value of Danoca Co is higher than this at $20m, using the average price/earnings ratio used for the sector.
2.
Danoca’s own price/earnings ratio is 8·25. The difference between the two price/earnings ratios may indicate that there is scope for improving the financial performance of Danoca Co following the acquisition. If Phobis Co has the managerial skills to effect this improvement, the company and its shareholders may be able to benefit as a result of the acquisition.
3.
The dividend growth model value is lower than the current market capitalisation at $14·75m. This represents a minimum value that Danoca shareholders will accept if Phobis Co makes an offer to buy their shares. In reality they would want more than this as an inducement to sell.
4.
The current market capitalisation of Danoca Co of $16m may reflect the belief of the stock market that a takeover bid for the company is imminent and, depending on its efficiency, may indicate a fair price for Danoca’s shares, at least on a marginal trading basis.
5.
Alternatively, either the cost of equity or the expected dividend growth rate used in the dividend growth model calculation could be inaccurate, or the difference between the two values may be due to a degree of inefficiency in the stock market.

[4 marks]
(b)
Calculation of market value of each convertible bond

Expected share price in five years’ time = 4·45 x 1·0655 = $6·10

Conversion value = 6·10 x 20 = $122
[1 mark]
Compared with redemption at par value of $100, conversion will be preferred

The current market value will be the present value of future interest payments, plus the present value of the conversion value, discounted at the cost of debt of 7% per year.

Market value of each convertible bond = (9 x 4·100) + (122 x 0·713) = $123·89

[2 marks]
Calculation of floor value of each convertible bond

The current floor value will be the present value of future interest payments, plus the present value of the redemption value, discounted at the cost of debt of 7% per year.

Floor value of each convertible bond = (9 x 4·100) + (100 x 0·713) = $108·20

[2 marks]
Calculation of conversion premium of each convertible bond

Current conversion value = 4·45 x 20 = $89·00

Conversion premium = $123·89 – 89·00 = $34·89

This is often expressed on a per share basis, i.e. 34·89/20 = $1·75 per share

[1 mark]
(c)

Weak form efficiency:

1.
Stock market efficiency usually refers to the way in which the prices of traded financial securities reflect relevant information. When research indicates that share prices fully and fairly reflect past information, a stock market is described as weak-form efficient.
2.
Investors cannot generate abnormal returns by analysing past information, such as share price movements in previous time periods, in such a market, since research shows that there is no correlation between share price movements in successive periods of time. Share prices appear to follow a ‘random walk’ by responding to new information as it becomes available.

[1 – 2 marks]
Semi-strong from:
1.
When research indicates that share prices fully and fairly reflect public information as well as past information, a stock market is described as semi-strong form efficient.
2.
Investors cannot generate abnormal returns by analysing either public information, such as published company reports, or past information, since research shows that share prices respond quickly and accurately to new information as it becomes publicly available.

[1 – 2 marks]
Strong from:
1.
If research indicates that share prices fully and fairly reflect not only public information and past information, but private information as well, a stock market is described as strong form efficient. 
2.
Even investors with access to insider information cannot generate abnormal returns in such a market. Testing for strong form efficiency is indirect in nature, examining for example the performance of expert analysts such as fund managers. Stock markets are not held to be strong form efficient.

[1 – 2 marks]
Significance of semi-strong form efficiency:
1.
The significance to a listed company of its shares being traded on a stock market which is found to be semi-strong form efficient is that any information relating to the company is quickly and accurately reflected in its share price.
2.
Managers will not be able to deceive the market by the timing or presentation of new information, such as annual reports or analysts’ briefings, since the market processes the information quickly and accurately to produce fair prices.
3.
Managers should therefore simply concentrate on making financial decisions which increase the wealth of shareholders.

[2 – 3 marks]
Answer 12
(a)

Calculation of share price

THP Co dividend per share = 64 x 0·5 = 32c per share
[1 mark]
Share price of THP Co = (32 x 1·05)/(0·12 – 0·05) = $4·80
[2 marks]
Market capitalisation of THP Co = 4·80 x 3m = $14·4m
[1 mark]
(b)

Rights issue price

This is at a 20% discount to the current share price = 4·80 x 0·8 = $3·84 per share

[1 mark]
New shares issued = 3m/3 = 1m

Cash raised = 1m x 3·84 = $3,840,000
[1 mark]
Theoretical ex rights price = [(3 x 4·80) + 3·84]/4 = $4·56 per share
[1 mark]
Market capitalisation after rights issue = 14·4m + 3·84m = $18·24 – 0·32m = $17·92m

This is equivalent to a share price of 17·92/4 = $4·48 per share
[2 marks]
The issue costs result in a decrease in the market value of the company and therefore a decrease in the wealth of shareholders equivalent to 8c per share.
(c)

Price/earnings ratio valuation

Price/earnings ratio of THP Co = 480/64 = 7·5
[1 mark]
Earnings per share of CRX Co = 44·8c per share

Using the price earnings ratio method, share price of CRX Co = (44·8 x 7·5)/100 = $3·36

Market capitalisation of CRX Co = 3·36 x 1m = $3,360,000
[2 marks]
(Alternatively, earnings of CRX Co = 1m x 0·448 = $448,000 x 7·5 = $3,360,000)
(d)(i)
1.
In a semi-strong form efficient capital market, share prices reflect past and public information. If the expected annual after-tax savings are not announced, this information will not therefore be reflected in the share price of THP Co.
2.
In this case, the post acquisition market capitalisation of THP Co will be the market capitalisation after the rights issue, plus the market capitalisation of the acquired company (CRX Co), less the price paid for the shares of CRX Co, since this cash has left the company in exchange for purchased shares. It is assumed that the market capitalisations calculated in earlier parts of this question are fair values, including the value of CRX Co calculated by the price/earnings ratio method.
Price paid for CRX Co = 3·84m – 0·32m = $3·52m

Market capitalisation = 17·92m + 3·36m – 3·52m = $17·76m

This is equivalent to a share price of 17·76/4 = $4·44 per share
3.
The market capitalisation has decreased from the value following the rights issue because THP Co has paid $3·52m for a company apparently worth $3·36m. This is a further decrease in the wealth of shareholders, following on from the issue costs of the rights issue.
(d)(ii)

1.
If the annual after-tax savings are announced, this information will be reflected quickly and accurately in the share price of THP Co since the capital market is semi-strong form efficient.
2.
The savings can be valued using the price/earnings ratio method as having a present value of $720,000 (7·5 x 96,000). The revised market capitalisation of THP Co is therefore $18·48m (17·76m + 0·72m), equivalent to a share price of $4·62 per share (18·48/4).
3.
This makes the acquisition of CRX Co attractive to the shareholders of THP Co, since it offers a higher market capitalisation than the one following the rights issue. Each shareholder of THP Co would experience a capital gain of 14c per share (4·62 – 4·48).
In practice, the capital market is likely to anticipate the annual after-tax savings before they are announced by THP Co.
(e)

There are a number of factors that should be considered by THP Co, including the following.
Gearing and financial risk

1.
Equity finance will decrease gearing and financial risk, while debt finance will increase them.
2.
Gearing for THP Co is currently 68·5% and this will decrease to 45% if equity finance is used, or rise to 121% if debt finance is used. There may also be some acquired debt finance in the capital structure of CRX Co. THP Co needs to consider what level of financial risk is desirable, from both a corporate and a stakeholder perspective.
Target capital structure

3.
THP Co needs to compare its capital structure after the acquisition with its target capital structure. If its primary financial objective is to maximise the wealth of shareholders, it should seek to minimise its weighted average cost of capital (WACC).
4.
In practical terms this can be achieved by having some debt in its capital structure, since debt is relatively cheaper than equity, while avoiding the extremes of too little gearing (WACC can be decreased further) or too much gearing (the company suffers from the costs of financial distress).
Availability of security

5.
Debt will usually need to be secured on assets by either a fixed charge (on specific assets) or a floating charge (on a specified class of assets). The amount of finance needed to buy CRX CO would need to be secured by a fixed charge to specific fixed assets of THP Co. Information on these fixed assets and on the secured status of the existing 8% loan notes has not been provided.
Economic expectations

6.
If THP Co expects buoyant economic conditions and increasing profitability in the future, it will be more prepared to take on fixed interest debt commitments than if it believes difficult trading conditions lie ahead.
Control issues

7.
A rights issue will not dilute existing patterns of ownership and control, unlike an issue of shares to new investors. The choice between offering new shares to existing shareholders and to new shareholders will depend in part on the amount of finance that is needed, with rights issues being used for medium-sized issues and issues to new shareholders being used for large issues. Issuing traded debt also has control implications however, since restrictive or negative covenants are usually written into the bond issue documents.
Workings

Current gearing (debt/equity, book value basis) = 100 x 5,000/7,300 = 68·5%

Gearing if equity finance is used = 100 x 5,000/(7,300 + 3,840) = 45%

Gearing if debt finance is used = 100 x (5,000 + 3,840)/7,300 = 121%
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